TEST 19 - TEST 21

5. A 8—2 . 8—2 _ 8—2+(—2) _ 8—4 8. C: 4X +3
x X+1
.75 5-3 8 - - -~
6. C:7°:73=77"3=7 a%13
7. E:Xx8 +x2 =x82-x°b 4X2 43X
8. A X2X3=x23 xS € 4X2 47X +3
X
9. B X1 9. B: X+3
- eA =D x X+2
Any number raised to the O power equals 1. 2X+6
10. E: X263y = x-2+-3ly 61 _ y-Sy7 %2 43X
11. B: A-'A-%B782 = A-T+(-8)g7+2 _ A -989 X2 +5X+6
12. B BB _pagag3_par2s3 _pgo 10. A X+4
" g3 x X—2
13. A: P N — P3N—2N—2P—4 — P3+(—4)N—2+(—2) — P—]N—4 5 —2X— 8
: N2p4 X +4X
X2 +2X -
14. D: (02 = 925 910 +2X-8
B 11. C X+1
15. C: (XA) = x?8 % X+5
5X+5
X2+ X
Test 20 o o | %2+ 6X+5
1. A equatlo_n is Z-:l specific kind of polynomial 12. D X_3
called a trinomial % X—6
2. D: X%+3X+2 —6X+18
+ X2+4X+5 X2 -3X
2X2+7X+7 X2-9X+18
3. A X2+ X+10 13. B: Multiplying the two first terms:
+X2-2X+ 4 7X-X=7X?
X2 _ X114 14. B: Multiplying the two first terms:
, 2X- X = 2X?
4. B2 X“+8X+6 15. B: trinomial
+ X2-3X -1
2X2 +5X+5
5. E:  X2-5X-2 Test 21
+ X2_4X-3 1. E ))((+ AB
2_ _ X +
2XT-9X =5 BX + AB
6. C 2X+3 2
+ 4X-5 X +AX
6X -2 X2+ (A+B)X + AB
7. B: 2X2-9X+5 2. B: (A+B)X
2 3. B: (X+1(x+2)
+ X“+4X-1 ( 3)( )
o, . 4. E: (X+3)(X+5
3X2—5X + 4 AT
5. B: (X+6)(X+6)
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